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2. N=28HE
SIHAL - 20244
Ol&bRb 20
SHTE - AEXEIZ
OPN=EDNE= o M)
& A & I\ = A &
E = =gl HEHE~00H s g = PN HEEXIEH 5
= A 170,672 178,672 A8,000 | & Al 170,672 178,672 A8,000
sl 2 =l 0 0 0|88 XHE AL HI 60,100 63,800 23,700
=) B = 9,000 17,000 A8,000 & A& A HI 0 0 0
Xt 2 =) 0 0 0] & 2 <l 0 0 0
Eollnma ) 0 0 0[7 = 7 o 0 0 0
N3z 0 0 ol & 23 0 0 0
o XI = 3l = 130,922 130,922 0] ol N =) 105,572 109,872 24,300
o = = 0 0 O|nezeezas 0 0 0
o X = g 750 750 Olo+323as 0 0 0
J B = ¥ 30,000 30,000 o121 & X = 5,000 5,000 0




SIHASE  2024F

Oll&bXb 0 20
AR - AZNEIIS
@ 2= ch9): ER)
Xt.3. 5.2 AO|OH Slel= = 2} = | A
— R = TES —JF%IO—,H S B QEH—-
200 HI2I2) 30,750 30,750 0
210 HA=AHISL 750 750 0
216 0IXt++g 750 750 0
216-01 220201 X++L 750 750 0
OES0Z3 Ok
750,000&* 14 = 750
230 KIZHZMIM - Fut= 30,000 30,000 0
231 K3 30,000 30,000 0
231-01 A= 30,000 30,000 0
Oounaz & OldZN3
5,000,000&*6H4 = 30,000
500 EX3 9,000 17,000 A8,000
520 Al - EHIEXZ2E 9,000 17,000 28,000
521 Al - EHIEZ=Z2S 9,000 17,000 28,000
521-01 Al - EHIEEASS 9,000 17,000 A8,000
OttaHl RSAE ZALE &
2=t
1,000,000&*14] = 1,000
AHIKAIBRIMZAIY L S
AME2SPNE 2LIHRA &S|
50,0003 *10Yx16 = 8,000
700 E&-LUSLLHEHH 130,922 130,922 0
710 BHUS 130,922 130,922 0
714 OIxIZal= 130,922 130,922 0
714-01 KIXIZ 3= 130,922 130,922 0
Olxl= 2=
130,922,000&*14] = 130,922
= 2 & A 170,672 178,672 A8,000




SIHAS 20244
Ol &t Xt 0 20l
A= - MBS

® XN&EH = EERED
XA . =52 ., N zH l:l-_c'?_l 5 k”‘:’Al.O'l TANZ Il = OH EL‘EE Hl_szl-
Al S| A0t 170,672 178,672 A8,000
Al ZF OOt 170,672 178,672 A8,000
AIRIO| OtMBEE AlZo|orEate| 60,100 63,800 A3,700
AMEREINZ(AMBEEIZ)(ABREIZR) 60, 100 63,800 A3,700
AZASAIS 60,100 63,800 A3,700
201 LBH2YH| 800 5,800 A5,000
01 AtR2t2ld| 800 800 5,800 25,000
OAlZEEIZ doRda =
100,000 *4%*23] = 800
206 M=l 3,000 3,000 0
01 TH=HI 3,000 3,000 3,000 0
OliaH| RSAZE ZAE Al =HY|
20,000&*100A = 2,000
[= 1,000]
[Al 1,000]
OsMAE S ZAME B =l
10,0003 *100A = 1,000
301 LEIBHEF 56,300 55,000 1,300
14 JIEIEAZ 56,300 56,300 55,000 1,300
OXHILH AISP ZAIE &S|
50,0003 *40Yx 15 = 30,000
[= 8,000]
[Al 22,000]
OSAZ3E BLIEHRA &=
50,0003 *5F+3U+6E8 = 4,500
OfIMAL XEXIEH st XA
50,0002x8Z*16 = 6,400
O0glol JIzAls M2l gl
50,0003 *108*2 = 1,000
O/AMSZH XEHA a3 2H X3
40,0003 *300 A x12& = 14,400
HRES(AZ2 M0t 110,572 114,872 24,300
BEXE(ANSIEIIB)(ABEEIIZ) 110,572 114,872 24,300
I=PSPNES 110,572 114,872 24,300
602 OllXI= 105,572 109,872 24,300
01 LBHIXIZ 105,572 105,572 109,872 24,300
OAZ&EIIZ WxIZ 105,572,000&* 14 = 105,572
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SIHAS 20244
Ol &t Rb== 0 2

o
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SRE  AENESIIS CoE-E)
%

o T o = x2s -
H@ o2 | Bx2 | xo2 a;(T’;éT) 0IRAY | JIEIAY
2018 DHX| 761,983 213,055 0 0 129,660 419,268
20198 & 69,880 10,386 0 442 59,052
20208 & 53,524 9,000 0 14,050 30,474
20218 & 9,163 9,000 0 163 0
20225 & 37,012 9,000 0 0 7,030 20,982
20238 & 77,750 17,000 0 750 60,000
2024E & 39,750 9,000 0 750 30,000
Al 1,049,062 276,441 0 152,845 619,776




3. (& AT, SHE &l
SIAHAE 20244
OlAERESE @ 2
378 AETSIIZ el M)
a Yo
oy &kl
==& oz | XY3H | G2 = | @@
H® | S | s | JVERIE
2018 DHX| 663,560 53,656 0 23,705 98,423
20198 & 49,012 0 0 1,440 20,868
20208 & 35,660 500 0 0 17,864
20218 & 44,446 0 0 0 N35,283
20225 & 48,614 0 0 0 A11,602
20238 & 70,215 0 0 0 7,535
2024E & 65,100 0 0 5,000 N25,350
Al 976,607 54,156 0 30, 145 72,455




SIHSHT  2024H
Ol &t X 0 20l A
SIADE  AZXSIS

GIXl & GilEreH
7= OIXI(E6) A
2022\H = 2 S XH A 2028 =2EHM@® | 20243 =LHIHA® 52(0-@)

Bl 424,637 432,172 406,822 225,350
OIXl= 2| 153,637 161,172 135,822 A25,350

sg=y 153,637 161,172 135,822 A25,350
OIE= e | 271,000 271,000 271,000 0

SSIHEet 271,000 271,000 271,000 0

d3pl=




